


e L

(1)

3 —
g = W ( xz\Q)
(14 x*)
iy = W 32 - n (14

lny = %\n (-2 - %W (14D

'% ! l- _ Y. L. 2X
| +x?

{3(\« 2) \:;5}

d/‘g? ;—,Eﬁ]

- (%-2
0 ey )" 0-2) Ve



10) Zin (¥ > (o

7 Inx?+ q’lmﬁ =
iy «wy = @
ﬁ (B o
Qj o\X
d ax x
dy -4
AY < \7(
2 [RIRON
dY Ve

9) fe):Fnx € x=|

_‘I(\\'.%\V\\r’o
g

Foo = 5

x - £ =R

g(ﬂ T



Fomewoye

_/

@ cog (\(2\373 -~ 3% {—j
-sin (¥ %) (\(’- 23%& x 4% 1x)= 3+ ‘;%f(

- 2%%4 sin OCy?) T - 2xyPenCy™) 7 ?*

+ lxj s (X 32) N . ~— 8- ijzng()(?g?)
(‘ 4 2X USM(K ‘dz)> e 3'2)03?'8'\\!\0(131)

=z ey




